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AからBまでの距離（つまりｃ）を知りたい。
初めに立てる棒の長さをaとおく。
木に１ 近づくごとに一寸短くした棒を立てる。
相似を利用して
a：c＝一寸：一
a：c＝3：300
3c＝300a
c＝100a
したがって、木までの距離は
「100×初めに立てた棒の長さ」
で求められる。

△ABCand△ADE
∠BAC=∠DAB , ∠CBA=∠EDA
∴△ABC∽△ADE
Using this,
a:c = 1sun:1jou
a:c = 3:300
3c = 300a
C = 100a
∴distance from tree to stick(BC)
Is “100×BC ’’
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最初は読んでも何を書いてあるか分から
なかったけど、先生方にヒントをもらっ
たり、自分たちで調べて、理解すること
ができた。
相似を使うことが分かって昔からこの方
法が使われていたんだー。と驚いたし、
解けると思ったらやる気が湧いてきた。
尺、丈、寸の長さの単位を合わせること
に苦労した。

昔の人達は棒をうまく用いて距
離を測っていたことが分かった。
We found that old people in 
Japanese measured the distance by 
use two sticks well.

人によって仕事の難しさがバ
ラバラだったことがあったか
ら、今後もっと協力して頑張
りたい。
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First, we put a stick which length is 6 syaku.
And we put a stick which length is 5 syaku 9 sun 1jyou 
forward from a first stick.
Then we could find the root of the tree at the spot that 
focus match with the ground 
when we look ahead through the end of second stick see 
from the first stick side.
Every time we grow distant from first stick, we put the 
stick 1 sun shorter than former stick.
Then the distance between first stick and the root of the 
tree is 60 jyou when the stick length is 0.
Accordingly, we can find the distance between first stick 
and the root of the tree.

By utilizing this, in the case when the length of the 
stick of 1shaku made 2sunn shorter.
The distance from a stick of 6shaku will be a 30jyou and 
the height of the stick of 1sunn make 3sunn shorter.
The distance from a stick of 6shaku is understood.
When it is 1sunn shorter, the distance will be 6length 
and when it is 6shaku shorter, the distance will be 
2jyou.
Thus length of the stick of 1shaku is when it is 5bu 
shorter, the distance will be 120jyou 
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